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[ 50 marks ]

Lo wot open this bookier unyil You ave told to do so. While you are waiting, write your name i index number
it the spaces provided at the tap right-hand corner of this booklet and thereafier, read the following insiructions

carefully,
L Use HB pencil throughout.
2. Ifyou have got a blank answer sheet, complete its top section as follows.

fa) In the space marked Nawme, write in capital letters your surname followed by your othier names.

) In the Spaces marked Examination, Year, Subject and Paper; write “WASSCE (8C), 2024°,
‘GENERAL MATHEMATICS/MATHEMATICS (COREY and ‘1’ respectively.

(¢/ Inthe box marked Indey Number, write your index number vertically-in the spaces o1 the left-hand
side. There are numbered spaces in line with each digit. Shade caresuliy the space with the same
number as each digit.

() Inthe box marked Paper Code, write the digits 402112 in the spaces on the left-hand side. Shade the
corresponding numbered spaces in the same way as for your index number.

(e, In the box marked Sex, shade the space marked M if you are male, or K if you are female.

3. Ifyouhave got a pre-printed answer sheet, check that the details are correcetly printed, as described in

2 above. In the boxes marked Index Number: Paper Code and Sex, reshade cach ol the shaded spaces.

4. Anexample is given below. This is for a male candidate whose name is Chinedu Oladapo DIKKO,

whose index number i 4251102068 and who is offering General Mathematics/Mathen aties (Core) 1.

THE WEST AFRICAN EXAMINATIONS COUNCIL

PRINT IN BLOCK LETTERS .

DIKKO CHINEDU OLADAPO Examination;WASSCE (SC) yau.. 2074 ]

MName: — (et
Surname ' Other Names

INDEX NUMBER PAPER CODE

Subject: __GENERAL MA'I‘HEMATICS/MATHEMATICS (CORE)
ST
]:__SEX_ S |
Indicate your ! L >}

025940704 © 2024 The West African Fxeunimations Conneil

c03cfic2cdambucss EB3cTsefacyga E07E13C23 c3 mlm cBacha £73=83c9s
% c03c1ImPec3icdacEicsa £73c831e9: == Cc1:c23c33c4a CBacBac7acga =93
shacing the T
co=:1::2::3::4:-&:&::7::8::9: 2 [F0Ic]am@acyy C47EB3C63CTa:8308a marked M (for % i
L'l 0w c21C33243053083c73c0220, m;...:2::3;:4::5::5:::7::3::9: or F (for Fema|: EE
"I SO mimc23c3ac4355365307ac03e0: :n:q-:z:::n:q:cs::s;-:'h:a::s: this box: =
| O =#=c1:c23c33041553069672c8209s :usm:.-..::a=4=:5a:5::?=:a:=9: ! =
03cizmemc3IcdI1c5:063c71chacg . = B
2 [c0ac ? INSTRUCTIONS TO CANDIDATES ! o
0 e ci3C23e33043053662c73c8109s 7. Use grado HB penci) throughoyl, ="
_‘6 =u==1:-:z::za:q::s:-u:?::ax:s: 2. ‘:\nr.waraach Guastion by choosing onw I\!hmandz\adng it j b =7
Rl . ) o tis: (a7 (g 1C] pomy
B lc0aciacracaicys =5=rs==7=--=5_-_ 3 Erase completely any answer(s) you w sh ta change |
or Supervitors oniy. ; E@a\-utmr:;pacsu bl::qk \'the answe: spacns Provided aro riore thar, YOU neso ;
o not mal < 2 )  blac g il
l if candidate is absent shade this space; I:: Wu?:mm s:;?;;“‘“ B Across the hoavy black marks al .he right-hans { =g
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Answer all the questions,
Mathematical tables may be used in any question.

| The use of non-programmable, silent and cordless calculator is allowed. ‘ Lok
: ion for e
\Each question is followed by four options lettered A to D. Find the corre‘;:iﬁr,;(:;{s the same
\question and shade in pencil, on your answer sheet, the answer space w Vsl et
letier as the option you have chasen. Give anly one answer (o each question. .
given below. 7 5
| The ages, in years, of fewr boys are 10, 12, 14 and 18. What is the average age of the boys!

A, 12 years

B. 124 years
| €. 13 years Q ‘
| .
‘ D. 131 years #
% The correct answer is 13% years, which is lettered D, and therefore answer space D would be
shaded, ’

[A] [B] [C] fea]
Think carefully before you shade the answer spaces, erase completely any answer You wish to
\change. _ |
!Do all rough work on this question paper. }
Now, answer the Jollowing questions. ﬁ

1. Multiply 3.4 x 19-5 by7.1x10%and  [3. The first term of an Arithmetic
| leave the answer in standard form. " Progression (4.7) is 2 angd the last term z
is 29. If the common difference is 3,
A 2414 x 102 bow many terms are in the 4 P9
B. 2414x103 ' |
C. 2414x10* A8 l
s : D.: 2.414 x 10° B. 9
B I . C. 10
: 2. Giventhat P={p: 1 <p <20}, where D. 11 .

pisaninteger} and R={r:0< r< 25, | !
where 7 15 amultiple of 4}. Find P R. | 4, Express in index form: ¢ ]

» I'ogax+]3gay=3_ §
A {48, 10, 16} |

-

. B {4812,16) A x+y=3 |
C. ,{4,8,12, 16, 20} B, xy=3 ) }

Do {4,812, 16, 20, 24) C x+ty=g f

D. p=g |




rite in this Index Number: | . ey

mafginl | CAGT TRFGE- Sl Nl L L LALLM N NN
5. Simplify : (2p - g2 - (p + g)2. 10. A trader gave a change of N540.00
instead of N570.00 to a customer.
A 3p(p-29) Calculate the percentage error.
B. 2p(p-3q) | ;
C. 3pp-gq) | A 5T%
D. 2p(3p-¢q) )
B. 5 3 %
B M@ -a1+32)= 4+ bJ_ 2, find |
the value of &. C. 3 '129"%
. A - 7
- -3 D. 5 7 %
- B. -5
vlooC - I o
| D21 11.  An interior angle of a regular polygon ==
is 168°. Find the number ofs:des of S
7. Find the time for which § 1,250.00 will the polygon. =c
amount t0 § 2,031.25 at 12.5 % per annum :—:g
| - simple interest. A. 30 ;g
' 8, 24 e,
A, 2years C. 15 . ES
. B. 3years D. 12 Eé
\ C. 4 years ES
| D. 35years 12, f3x-2y=-~5andx+2y=9 find =
pio ) -
L. lflog3 (Zx— 1) =3, find the value of x, the value o x+y e
\L A 8 A. 2
. B 16 .
. C. 64 3
B 122 S
- [he populanon_ of a town increases by 3 % C. -3 |
every year. In the year 2000, the population
was 3,000, F'mél» the population in the year D 3
2003, 3
A 3,182
B. 3,278
C. 6,591 -
D. 7515
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Index Number: .

A variable ¥ varies partly as M and
partly inversely as P. Which of the
following correetly represents the
relation with ki and k, as constants?

kM
A w=tM
k—
M
B rV”(kl f‘k—,)‘}—

14, Acylindrical metallic barrel of height
2.5 m and radius 0.245 m is closed at
one end. Find, correct to one decimal

place, the total surface area of the
barrel. 2
[Take = ?]
A 21 m2
B. 135um2
C. 402
D. 94,2

15, Make R the subject of the relation
V=niR - ).

o —

S 5

A, R=\jg o
CoNmL:

| T

B. R:'V’:[ = 1;2
C. Rr= \[;’ —lrr .’?‘—2

D. R=y¥ +72

16.

17.

19.

20.

Consider the following statements:
m : Edna is respectful

n : Edna is brilliant. _
If m = n, which of the following is valid?

A ~m=~n
B. n= ~m
C. ~n=>~m
D n=m

A number is added to both the numerator
: . 1
and the denominator of the fraction 4

If the result is Zi’ find the number.

Al

[=A TV N S )

B.
C.
D
Gifty, Justina 'ar‘:d Frank shared 60 oranges

intheratio 5:3": 7 respectively. How many
oranges did Justina recejye?

A 12 )
B. 16
C. 20
D. 28

Find the i atl
; quadratic equation Wwhose roots are
3 and -1, '

A 3x2 +tx-2=0
B. 3x2ﬁx—2=0
C. 3x2+x+f:0
D, 32 tx—1=g

a rectangular shape such that the ratio [
cb):;::ti-le.ngth to the breadrh 157:4. Fing the J

|
A, 8 m !
B, ldm JJ
C. lém ' I
D. 24m !

Dong
Write in“’ll; \
Margiy
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e b e pian 24. Given that P is 25 m on a bearing of
v e . L s P
-1 330° from Q, how far south of P is .
et ot
A 252 m
A S :
M Thers N B. 21.7m
NOT DRAWN TO SCALE - C. 198m
D. 185m

o

fo

In the diagram, MN // K_L, ML and KN

23,

| . .intersectat X. [MN = 12 cm, |MX| = 10 cm |
-~ And [KE[= 9'em. If the drea of AMXNis

16 cm?, calculate the area of ALYK.

AL Bem?
= B. " 9cm? -
C. 10cm?

D. 12cm?

122, Aladder 15 m long leans against a
vertical pole, making an angle of 72° with
the horizontal. Calculate, correct to one

decimal place, the distance between the

~_foot of the ladder and the pole.

oOow>

[
15.8 m

143 m
49 m
4.6 m

NOT DEAWN TO SCALE

In the diagram, O is the centre of the
circle, If | 04| = 25 ¢m and [AB] =40 cm,
find |OH).

15 cm
B 20 cm
25ecm

D 30 em

25,

26.

27.

“Acar valued af $ 60000000~

o 0w

28.

depreciates by 10 % each year. Whai
will be the value of the car at the end
of two years?

$120,00000 "
$'480,000.00 '
$ 486,000.00

$ 540,000.00

The length and breadth of a cuboid ase

15 cm and 8 cin respectively. [f the
volume of the cuboid is 1,560 cs°,
calculate the total surface area.

A, 976 cm?
B. 838cm?
C. 792cm?
D. 746 cm?
The number 1621 was subtracted fron:

6244 in base x. If the result was 4323 .

find x.

A. Seven
B, Eight
C. Nine
D.  Ten

Factorize completely:

3(31 + 4}‘)(37'- + 4y)
303x + 9)(3x — 4y
3(9x — 16p)9x + 16y)
39x — 16y)(9x - 16y

OO0 e

|
|

S
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29. For what values of x is 32. A cone and a cylinder are of equal volume.
x -3 x+1 9 The base radius of the cone is twice the
ra 8 3k , radius of the cylinder. What is the ratio of
the height of the cylinder to that of the cone?
. A x>5 ‘ A 54
Sl . B. 4:3
.l S = : C. 3:2 |
| D x28 © D 3:4 K
0. |

17m

NOT DRAWN TO SCALE
19m

NOT DRAWN TO SCALE
In the diagram, ZSQR = 52° and

ZPRT = 16°. Find the value of the Find, correct to the nearest whole number,
m" : angle marked y. the value of / in the diagram. ,
=% A 16m i
= A 6 B. 2m |
=i B. 68° C. 23m ij
=g C .
;;’é h D. 128
3_-3 34. The gradient of the line Joining the points
= 3 P(2,-8) and O(1, y) is —4. Find'the yalue "
of y.
A. 2 |
B. 4 , |
C. -4 |
y , D. -3 |

.‘(Uﬁ AW m‘._sc\u
In the diagré.m, JKLisa tangent to the
circle GHIK at K, ZLKG = 38° and
ZHIK =87°. Calculate the value of .
the angle marked x.

A 93°

B. . 550 NOT DRAWN TO SCALE i K\\ i |

C. 47° |

D. 230 ] : In the diagram, f’@;’/ﬁ LWYZ = 44° ‘
and LWXZ = 50°, Find .~ Wy |
A 65° | :
- . | i
C. 86 ' | ¥
D. 90° ' i o
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36. The perimeter of a rectangular garden is 40. Calcu]ate the variance of the distribution
90 m. If the width is 7 m less than the A 35
length, find the length of the garden.  ~ B. 36
A 19m C. 40
. B. Bm D. 50
C. 24m
D. 26m 41. Two opposite sides of a rectangle are
_ (5x+3)mand 2x + 9) m. If an ,
7. Four of the angles of a hexagon sum up to adjacent side is (6x — 7) m, find in m”,
420°, If the remaining angles are equal, the area of the rectangle. ‘
find the value of each of the angles. A 45 ‘ '
A, 60° B. 65 .
B. 100° C. 125 l
C. 120° D. 165 j
D. 150°

42 Adicis tossed once. Find the probability |

38, of getting a prime number. _
L k

A3 =

i l e

a 6 | S

§ ot i

NOT DRAWN TO SCALE c. 1 s

3 =

e €2

s 2 p— 1

Find the value of x in the diagram. D. s v

]

A. 60° | st
o . . < damm
B. 65 43. The area of a sector of a circle with =
C. 120 radius 7 cm is 51.3 em?2. Calculate, s
D. 125° =

correct to the nearest whole number,

‘ the angle of the sector
The following are the masses (in kg) of

membersmaclub 39, 44, 53, 57, 49, 40, [Take = .“2] ’

48 and 50. Use the information to answer 7 |
questions 39 and 40. A, 60° ’
' : B. 120° -
39.  Calculate the mean mass. C. 150°
A. 40 kg D‘ 1 800
B. 44kg }
C. S0kg : ‘
D. S53kg ‘
125940204 . !




Do not

L IANA VLW A ile in thi
InAeX NUMDOX: ooo.. ottt ILELN 2.\ i oy
44, AclifTon the bank of a river is 87 m 47, Which of the following points lies on the ;
' high. A boat on the river is 22 m away line 3x — 8y =117 |
‘ [rom the foot of the ¢liff. Calculate, |
| correct (o the nearest degree, the angle Ao (LD f
| of depression of the boat from the top of B. (1,-) |
L theclift & EL1) !’
A 76 D. (-1,-1) |
OB g4 !
1 C. 36° 48.  Find the range of the following set of ,
| D, 24¢° numbers: 28, 29, 39, 38, 33, 37, 26, 20, |
[ 15 and 25. ;
145, : |
. AL 22 |
| B. 24 . |
: o Bk ;
= D. 27 |
e ‘ o
. ; |
Ev | U 49. The fourth and eighth terms of an ‘
o ,. o .
g & i DRM!{}U - Anthm'etlc Prggresmon are 16 an'd 40
=§ . respectively. Find the common difference. ‘
=3 In the diagram 7U is a tangent to the . -
=3 . circle SPOR at P. If ZPTS = 44° and A -6
el £SOP =35° find £PST. B. 6
=5 A 1010 C. -2
§§ B 125° D. 2
2= C. 13[_) . ﬁ
— | D. . 135° 50.  For what values of y is =
g | 8y — 10y +3 ’
‘46. The probability that Amaka will pass not defined? ’
| . .
‘ an.eXamination is % and that Bala will A 31 ’
i : h T2
‘ pass is % Find the probability that l
! ' i 3 1
{ * both will pass the examination. B. T3 '
| 2 .3 |
| i 21 & 4" 2 i
! B i 3001 ‘
| & 2' — —_
‘ B 4* 2
1 E3
i ST
: 2 ’
T

EXAMINATION MALPRACTICE IS CORRUPTION |
DO NOT PARTICIPATE IN IT |
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